Max Marks : 100

ALL INDIA TRADE TEST - 2025 FOR CRAFT
INSTRUCTOR TRAINING SCHEME - ENTRANCE
EXAMS
Trade Name: Fitter
Year: 1st Year

Exam Date :
Exam Time :

Note:

1. Tick the correct option out of four alternatives provided
2. All questions carry equal marks (1 Marks each)

3. There is no negative marking

Sr. . . I Negative
QID Question Body and Alternatives Marks Marks

TRADE THEORY

1 Which drill holding device is used to hold the drill on machine spindle, If taper shank of a drill is larger than the? mz;hir; sp?ndle 1.0 0.00
taper?

i R W {3 &1 Ube & forg fra gifesT fEarsw o1 IuavT foan wran €, afe f3a &1 TR YA A S8l

Al : Chuck
qh

A2 : Sleeve
A3 : Socket

A4 : Collet

TRADE THEORY

2 Which angle forms rake angle in a twisted drill?

P DI T ffaee fSa & BT amar 32

Al : Chisel angle
ERIKal

A2 : Point angle

Rgam

A8 : Helix angle
A4 : Lip clearance angle

TRADE THEORY

3 What is the clearance angle of a drill for drilling mild steel job?

TS Wi S &I i$d = & fore i3 o1 et sior s gian g1

Al:3%to 5°
3%t0 5°

A2:8%to 12°
8°to 12°




A3 :12°t020°
12° to 20°

A4 :15° to 50°
15° to 50°

TRADE THEORY

What is the countersinking angle for seating countersink head machine screws and deburring of holes? 1.0

HIHeRART g8 7 Rrdhon ofR Bl & et & forg BideRis dor g2

Al :75°
75°

A2 :80°
80°

A3:90°
90°

A4 :120°
120°

TRADE THEORY

Which drilling machine is suitable for drilling more number of holes in different location wihout dist;rbing the job setting? 1.0

DI G TSI = SaT-3rerT R W iR e # we 1 f$forT & o Suged & Sife a1 3T o1 e fopg famm

Al : Bench drilling machine

o9 fgfer w2

A2 : Pillar drilling machine

forer fgfei ==

A3 : Radial drilling machine

g fefer a=ita

A4 : Electric hand drilling machine
'S fefefm wsfI

X

TRADE THEORY

What type of gas flamé is to/be used for bronze welding? 1.0

I ST & fo b TR ) 719 1 ot &1 STUNT fbar S g

Al : Neutral'gas flame
TERIIE B

A2 : Carburising gas flame

TGP A B TG

A3 : Oxidising gas flame
SiferfiepRur 71 1 ot

A4 : Slightly carburising gas flame
ISt A BRI 9

TRADE THEORY

What is the term for the surface connecting crest and root of a thread? 1.0

T RRaT % 4a 3R T Bl Sl ard Udg & o e g

Al : Flank

0.00




10

10

A2 : Pitch

A3 : Depth of thread

IS P TERTE

A4 : Thread angle
IS BT I

TRADE THEORY
What is the use of V threads?

ISt FTIT@T A R?

Al : Screw jack

A2 : General purpose bolt and nut
I WIS Siee 3R 7

A3 : Railway couplings

YT waferT

A4 : Power press
TR O

TRADE THEORY
What is the included angle of metric V thread?

Tifee dt s o1 wfwiferd BT T R?

Al :60°
60°

A2:55°
55°

A3:471%°
47 1%°

A4 :45°
45°

TRADE THEORY

What is the erroricaused due to particles of dust on the measuring face of instrument?

JUSHRUT P AT aTe! YT TR e &b B g F 1 7 giell 32

Al : Elastic deformation error

ArIeR fawygu

A2 : Parallax error
deT e

A3 : Contact error
A4 : Random error

TRADE THEORY

Where vernier scale is graduated on a vernier micrometer?

g1 AR Whel B Uep AR HISShIHIeR IR S § @1 Sl 82
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15

14

15

Al : Thimble

A2 : Spindle
A3 : Barrel
A4 : Frame
TRADE THEORY
What is the most suitable instrument to check throughout a hole of dia 11.05 mm? 1.0

11.05 mm P B¢ P SR SITd B P 17T Ja ST ST B AT 82

A1 : Vernier caliper
A2 : Depth micrometer
A3 : Telescopic gauge
ferepifte s

A4 : Small hole gauge

BIeT gie Tl

TRADE THEQRY %,

Which material is used in making the faces of anvil and spindle of outside‘micrometer? 1.0

3T3HC T3S HISHIHICR P T IR RIS P T &l g9 o [o@fed T T ST fhar Sar 3 |

Al : Cast iron

] Gl

A2 : Steel
ENUG]

A3 : Tungsten carbide

A4 : Aluminium alloy

forey emg

TRADE THEORY

Which'is used to check the zero error on 25 to 50 mm outside micrometer? 1.0

25 50 nim 3THT VST ATSHITICR BT SRR (I Ffe) Sie B & fow am SuahT fFar wmar g

Al : Vernier caliper

A2 : Dial gauge
ERNEIE]

A3 : Test piece

Rteror et

A4 : Steel rule
waEa

TRADE THEORY

What is calibrating room temperature of the precision measuring instrument? 1.0
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18

T HIT IUHN P =H SFIRER B hicise BT 1 82

Al:10°C
10°C

A2:15°C
15°C

A3:20°C
20°C

A4 :25°C
25°C

TRADE THEORY

What is the main purpose of screw pitch gauge?

@ U 9 &1 go1 e 1 7

Al : To check the minor diameter of screw thread

T IS & AN A Bl e IR & g

A2 : To check the limits of screw thread

U 1 Sl 1 Aeref 1 S B & forg

A3 : To check the distance between adjacent crest, of screw thread

T 9% ¥ 37 e & ffa ) g ) S B F o

A4 : To check the major diameter of screw thread

o 1 IS0} & UG I B S B & forg

TRADETHEORY

What is the use of a drift?

fSue sg1a o1 IUANT ¥

Al : Drawing the drill to location

& & AIHIE W A

A2 : Fixing chuck on the machine spindle

TR Bt 4 R o 9%

A3 : Removing a broken,drill from the work

TP gl g% A S Qg

A4 Removmg the ta%;shank drill from the machine spindle

TRADE THEORY

Which is used as coolant for drilling aluminium job?

Tegrifgn @t e & o <had ava & w0 H et IuanT fosar S &

Al : Dry air
b &l

A2 : Kerosene

fedtwraa

A3 : Soluble oil

A4 : Mineral oil

Gl el
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21

22

20
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22

TRADE THEORY
What is produced in puddling furnace?

T et B 1 I g 82

Al : Pigiron
T SmaRA

A2 : Wrought iron
X[C 3RRA

A3 : Cast iron
HRC R

A4 : Steel

TRADE THEORY
What is the melting point of copper?

BIR BT Teie fbal gidn 82

Al : 420°C
420°C

A2 : 660°C
660°C

A3:900°C
900°C

A4:1083°C
1083°C

“TRADE THEORY
What is the standard angle of square thread?

if BT IS BT AT

Al:60°
60°

A2 :55°
55°

A3:90°
90°

A4 . 45°
45°

TRADE THEORY

What is the specification of vernier height gauge?

IR BT 9 B ARmaT R R

A1l : Length of scriber
TPIFR I o

A2 : Height of base

3MYR BT FaTS

A3 : Width of beam
A B S

0.00
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24

25

26

23

24

25

26

A4 : Height of the main scale

e UM &1 ard

TRADE THEORY

What is the correct dimension, if a micrometer has negative error 0.03 mm shows a reading of 25.52 mm?

e ATSH IR B THRIAS Ffe 0.03 3R 25.52 mm BT A fezamar g2

Al:25.49 mm
25.49 mm

A2:25.53 mm
25.53 mm

A3:25.55mm
25.55 mm

A4 :25.56 mm
25.56 mm

TRADE THEORY

Where depth bar of vernier caliper is attached to?

TR BT 1 TS Ugt o1 W gl o1 Bl 82

Al : Vernier scale

A2 : Fixed jaw
RR vEe

A3 : Fine adjustment unit

A4 : Movable jaw
SEE

“TRADE THEORY

What is the smallest division graduated on barrel of-an"outside micrometer?

TS S HISHIHIY el IR Fod BleT fAHTeH am g2

Al1:0.01 mm
0.01 mm

A2 :0.05 mm
0.05 mm

A3+0:2 mm
02 muy

A4:0.5mm
0.5 mm

TRADE THEORY
What is the angle of British Standard whitworth thread?

fafewr wWes arge wt gt w1 BRI B?

Al :60°
60°

A2:55°
55°

A3:47%°
47%°

0.00
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29

30

27

28

29

30

A4 :45°
450

TRADE THEORY

What is the type of error detected in checking bore with three point internal micrometer?

A TaEe 37ed AIShIHIeR J IR BT Wiid B GHY 59 UHR o1 I U S 31

Al : Micro geometrical error
A2 : Macro geometrical error

A3 : Temperature error

aoHE |

A4 : Observation error

TRADE THEORY

Which inside dimension is not possible to measure by inside micrometer?

TS S ATZSHIHICR gRT {6y TR T 3ies-it {10 A1 GHHT Tei 82

Al :122.67 mm
122.67 mm

A2 :75.08 mm
75.08 mm

A3 :25.89 mm
25.89 mm

A4 :12.23 mm
12.23 mm

TRADE THEORY

Which is used to check a job having/a curved edge of radius 58.5mm?

T 58.5mm & U GHAGR fH-IR el Sie &1 oiTe 3 & for fomerest SuanT faan oirar 82

Al : Radius and fillet{@gauge
i

ERIEEIR

A2 : Snapigauge

HU S

A3 : Profile gauge
I

A4 : Slip gauge
[SSEEIRE]

TRADE THEORY

What is the operation of increasing length and reducing the cross section of a stock during forging?

TIRSHT F SR U Wb P! TS T dUT HT YR HH B HT DI IT 3TIRTE 82

Al : Drawing out

QIR 3HC

A2 : Upsetting

0.00

0.00
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34

31

32

33

34

A3 : Jumping

A4 : Twisting

TRADE THEORY

How to prevent the tool rubbing against the work surface in metal cutting process?

&1 BTe BT Uighar & BT BT Gag & [Auid IuaR &1 W18 I H9 Ad?

Al : Decrease lip angle
fora Pior =g T

A2 : Increased rake angle

3D DI TG

A3 : Increase clearance angle

IREARIEANE I

A4 : Decrease tool wedge angle

T IS WA B BH BAT

TRADE THEORY
What is the reason for the cutting edges of drill get blunt quickly while drilling?

BT B GRM [3A & HeTs god g HRUNY Fg 81 o 3|

Al : Too low feed of drill

o sl sgddUBIS

A2 : Too low speed of drill
& & 9gd ®H T

A3 : Too little lip clearance

Tgd A for FeRd

A4 : The cutting speed high

Pled HI T I

TRADE THEORY

What is a jig used in mass production?

e IaTed § SUANT B TS arel for o &2

Al : A device'used,to hold jobs
Th IUDHRY, Sl T Si1g B Uhgdl &

A2 : Adevice, which only guides the job
T JUBII, Sl Had Slid b M S B &

A3 : A device, which eliminates marking on the job
TS JUPRI, Sl HTH R 3 Pl FHG Bl §

A4 : A device, which holds, locates a job and guides the cutting tool

T JUBRU, Sl T Wid U Sl § 31K Siel T Tl Tl & 3R STBRUT Bl Ple & o7y Mes BT &

TRADE THEORY
What is the type of error while checking a cylindrical shaft ovality is found?

T SEFTPR WTUE Bl SR B! Sird BRd GHY fbd TR 1 Jfe ure oirell 82

A1l : Systematic error

Rreqdgfe

0.00

0.00

0.00
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A2 : Macro-geometrical error

A3 : Micro-geometrical error

Y-St e

A4 : Cosine error

TRADE THEORY

What is the unit for feed in turning?

e IS & fog s FT e

Al : m/min
m/min

A2 : mm/min
mm/min

A3 : mm/rev
mm/rev

A4 : cm/rev
cm/rev

TRADE THEORY

What is the colour painted on oxygen gas cylinder?

Sfferdior I Rieier R o R s glar g

Al : Red
NIS)

A2 : Black
DIl

A3 : Yellow

A4 : Maroon

TRADE THEORY

What is the extreme allowable limit to manufacture a component?

e I & (g IR B AT o1 82

Al Basic Size and maximum limit of size

e3P 3R bR B AR T

A2 : Maximum limit and minimum limit of size

3w T 3R 3MBR Bt griaH e

A3 : Upper deviation and maximum limit of size

SO eI 3R 3R ) Sifipaw e

A4 : Lower deviation and minimum limit of size

HH a1 3R SHTHR B YAaw

TRADE THEORY

What is the taper ratio of metric taper pins?

Tifew TuR i o1 TWR U T 32

Al:1in20
1in 20
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42

39

40

41

42

A2:1in25
1in 25

A3:1in 50
1in 50

A4 :1in 100
1in 100

TRADE THEORY

Which is a permanent fastening?

R TR BT A2

Al : Screw fastening
PEELE

A2 : Fastening with bolt and nut
3R 7T & Y T=A

A3 : Brazing

A4 : Welding

TRADE THEORY

What is the defect after threading a hole by a tap is found that the crest of threadis not formed completely?

T U GRT B¢ B 31 ST & S T 1Y T STl @ {3 e o) FRel 0t oRe & -t acil o2

Al : Insufficient coolant supply

A2 : Broken the tip of cutting edge of the tap

& fHIR Pres &1 Aieb

A3 : Hole size slightly less than the tap drill'size

2P PR B o1 5 S FT PR AT HHE

A4 : Hole size slightly moregthan the tap/drill size

2P F3A P PR B gaiT 6 3G.HT B ArST 3D 3

TRADE THEORY

What is the most.commonly used gas in flame hardening process?

TR BTS T Ukl & e S SR &1 o aTelt 719 14 ¥t 82

ATl Oxygen
Sfedter

A2 : Oxy-acetylene
SfTerefl-

A3 : Nitrogen

A4 : Acetylene

TRADE THEORY

What is the difference between maximum limit of size to its corresponding basic size of a component?

it vew & 2t g PR & SMHR B R W & o9 aar iR 32
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46

43

44

45

46

Al : Actual deviation

EIRSICEARER

A2 : Upper deviation
U frrear

A3 : Tolerance

A4 : Lower deviation
&H firr

TRADE THEORY

What is the main function of grooves on a lap?

AU H W & g SRl 1 82

A1l : Retain abrasive grains

A2 : Cut metal
o7 B! HIcAT

A3 : Smoothen surface

IECRIEGH

A4 : Hold the job
e B UB ST

TRADE THEGRY',

What is checked on a job with the NOGO end of plug gauge?

T IS & =T o 1Y U Sl TR T S bt Sl 82

Al : Minimum limit

AqH T

A2 : Maximum limit

3w

A3 : Actual size
ARAID MHR

A4 : Basic size
HA ORI

TRADE THEORY

What is the furnace used to produce pig iron?

TORT S{TRA BT STEH B & o1y b1 Tt 1 Bl 31

Al : Cupola furnace

A2 : Puddling furnace

UreR Y gl

A3 : Blast furnace

ST P HEl

A4 : Electric arc furnace

FaeTeft airds /g1

TRADE THEORY

What is the material used for making hand files?
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47

48

49

BTY P HTEA I P o8 Ugad el an 82

Al : Low carbon steel
PIa Bt HH T a1 T

A2 : Medium carbon steel

oY S Lid

A3 : High carbon steel
I BIe- ST

A4 : High chromium steel
3

TRADE THEORY

What is the ore for extraction of aluminium?

TegHifan & el & fo s @ o2

Al : Pyrites

A2 : Bauxite
CIESIES

A3 : Aluminium oxide

SIESIES)

A4 : Magnetite

TRADE THEORY:
Why double cut file is not used for filing on Tin (metal)?

o1 (urq) &) BrsfiiT & T Siex Hedrel Brsd &1 gt ot Tl fear S

Al : The file will not cut the metal

TISA YT BT 51 PreAt

A2 : The metal is hard

UIFIGE]

A3 : The file slide on the metal instead of cutting

PICA & T T IR B WSS BT

A4 : The metal pieces will clog on the file
UTd & THSBISAIR Fue ST

) | TRADE THEORY
Whatis'the cutting fluid used for honing?

BIF-Y BT I1d d BT SUANT 11T Ufshar & fere e Sar g9

Al : Soluble oil

A2 : Mineral oil

RSB

A3 : Mineral oil with kerosene

gt & aa & Iy Jiel adt

A4 : Soluble oil with kerosene

8t & 9a & A1y gaRia ad

TRADE THEORY

0.00
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51
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53

What is the flux used in the brazing process?

i1 (SFSHT) Tfchan & Tged g1 aTel e ol 62

Al : Ammonia chloride

A2 : Flux
I

A3 : Borax
A4 : Zinc chloride

TRADE THEORY

What is the reason for drilled hole, if hole is larger than the size of drill?

ot fopan o1 ¥ f¥a & PR | ST fPu SRV BT B2

Al : Too much feed

g4 3% Wi

A2 : Helix angle not accurate

ey B TS TR B

A3 : Lip clearance not accurate

foru it wet et

A4 : Unequal length of the cutting edges

P P fHIRI BT AN ddls

_ARADETHEORY

Which is the possible cause while a twist drill produces-a rough holeron the job?

g B 1 YHTTIT BRI S S T e wiie TR Ueb, HieT 3G UaT el &2

Al : The clearance angle is too big

et ivr sgd w191 &

A2 : The clearance angle is too small

@R HIT 9gd Blet

A3 : The cutting speed.is too small

HTe Bl TfaFgd HH &

A4 : Feed tate is too high

WIS L gd B

TRADE THEORY

What is refered to 18 in composition of High Speed Steel cutting tool (H.S.S) in the ratio of 18:4:1?

18:4:1 & (U B TS T BT ¢ (H.S.S) BT IS H 18 BT o1 gl T 32

Al : Chromium
A2 : Tungsten

A3 : Cobalt

A4 : Vanadium

0.00

0.00
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55

56

57

TRADE THEORY
What is an alloy of solder?

e | fy g w82

Al : Copper and tin
e SR fe

A2 : Lead and tin

Tt ofR fest

A3 : Zinc and tin

ST 3R feq

A4 : Antimony and tin

R 3R fee

TRADE THEORY

Which material is applied on the inner face of the belt for reducing belt slip?

e FRIU B HH B F T See F Had Ui R B D el o o 22

Al : Emery or corundum

TR g HRSH

A2 : Tallow or powdered resin
IS AT USSR

A3 : Nylon or Tuflon
BIENIE RIS ANk

A4 : Zinc or chalk powder
fSieh a1 dieh UIg e

“F TRADE THEORY
Which does not have a base but can be set oversthe jobito be drilled?

o U SR et 8, AfpT 39 fa fra o 3 e Sife R Qe fobar S Tebar 82

Al : Box jig

iy 5

A2 : Sandwich jig
Hefom fom

A3 : Channeljig
e fom

A4 : Trunnion jig
TomT

a
a

TRADE THEORY

What is the process of producing holes on the metals by forging?

WIS GRT UTgsi TR ¥ S &1 Uforar . 82

Al : Drilling

A2 : Cutting
DI

A3 : Punching

0.00
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59

60

61

A4 : Upsetting

g & forg

TRADE THEORY

Which is surface hardening of components by local heating using electric process?

foerel &Y ufshan 1 IUTNT AP RIFIY T gRI Uedh) Bt Ydg P! & fobar Srdl 82

Al : Flame hardening

TR GRS

A2 : Cyaniding

A3 : Induction hardening
SR

A4 : Carburising

TRADE THEORY

What is induced as the main purpose of annealing the metal?

YTq TR U1 TG T BT T TSI 1 82

Al : Softness
GIGl

A2 : Hardness

HoRA AT

A3 : Toughness
FHASTH AT

A4 : Surface hardness
Hdg W HERAT AT

y TRADE THEORY

Which is the metal used in case hardening process?

BHOR 1 BT UiehaT § Uged U BT A 22

Al : Pigiron
fomT R

A2 : Low carbonsteel

NIEEERSI]

A3 : Highycarbon steel

I PET LT

A4 : Alloy steel
[EERINET G

TRADE THEORY

What is the purpose of dressing carried out on grinding wheel?

TR & W fpy 1T SR &1 vater a1 62

Al : Make the grinding wheel perfectly round

RIS &d G 7RE & M B

A2 : Improve the cutting action of the abrasives

T gUR B

0.00
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65

A3 : Make the abrasive dull

ST B BT

A4 : Make balancing of wheel

= P TR B

TRADE THEORY

What is the use of special files available as Block file for filing areas not possible by regular files?

FRraftra wredl gRI SHT &5 31 afad A & T <l BIed & U H I« IRy Brgdl S Suai w1 82

Al : sharpening the wood working saws

AHS! DT BTH B aTel SHRT DI ool HRAT

A2 : large surfaces

ERIRSRE]

A3 : deepening round gullets

el e8! B TTERT BT

A4 : more number of work pieces

HfYF e & Aa & ghe!

TRADE THEORY
What is checked on a job with the GO end of snap gauge?

QU F GO 3/d & 1Y TP Siie TR T S B el 82

Al : Basic size
He PR

A2 : Actual size
HPR

A3 : Maximum limit

A4 : Minimum limit

FAqY 1

TRADE THEORY

What is the suitable precision‘instrument to check the axial movement and parallelism of spindle axis to guide ways?

T P ST B . (8 1 U IUGI RISl STUHRUI § e IuaiT e & refig T 3iR refig T
A ¥ fore foar S &

A1l : Parallel block:
HHMIR &P

A2 : Dialdest indicator
S o SfedheR

A3 : Straight edge
Koo

A4 : Spirit level

ffve daa

TRADE THEORY

What is the purpose of using universal coupling?

i G P57 IUAIT BRA BT I T 82

Al : To be joined permanently

R T Y W g9 P g

0.00

0.00

0.00

0.00
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A2 : To be connected and disconnected often

RR TS & 3R feae 81 & frg

A3 : In parallel
FHRR H

A4 : To be disconnected often and to compensate a slight misalignment between two shafts

SRR PIe &g M1 3R < 2w F e ST W TSac! B RIS BT

TRADE THEORY
What is the use of eye bolt?

TS Siee BT ST 1 B2

Al : Fixing bed of machine

727 BT 58 Sl AT

A2 : Fixing of machine table

T Y O Bt fofRgT

A3 : Fixing on machine for lifting

I3 & fore a=ie w i

A4 : Fixing in machine foundation

=i fia o fpfagm

TRADE THEORY

Why spring washers are used?

AT AR 7 UGN T fopar ST 82

Al : To reduce the friction between nut and surface

e 3R Tdg P o9 g0 B HH B & [T

A2 : To prevent loosening of the nut

e o AU DI A b fog

A3 : For locking the nuts

e §¢ B & forg

A4 : To increase the friction betweenut and surface

e 3R g P S TNl L. g & forg

TRADE THEORY

Which is not the fun;t?on (?f broach?

S BT HLD I G1 Tal 87

Al : Enlarge a hole
T B¢ ge M

A2 : Cut multiple key ways

&% g K BT

A3 : Cut recess
hc AT

A4 : To finish holes

DS P TH PR B forg

TRADE THEORY
Why the size of the bolt hole is slightly larger than the bolt diameter and are fitted with clearance hole in an assembly?

e B¢ BT MHR diee Y I AT 587 HT ¢ 3R T 3Telt & FHprdt &g & Iy e 32
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71
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Al : To grip components firmly

e Pl Helg! ¥ Gebg & f1g

A2 : To fasten the components

Y| Bl THSl

A3 : To adjust slight misalignment in assembly

& ferg

A4 : To lock the components to avoid loosening of parts

HITY 1 STl bR & S ob oTT T &l cilch Bl

TRADE THEORY

What is the main advantage of using hexagonal socket head cap screw? 1.0

TR Widhe 38 $U ¥ BT SUUNT B BT T T FT1 32

Al : Operate frequently and easily
SRR 3R

A2 : Dismantle parts easily

o=t &) AT & 31T BT

A3 : Have a very firm grip
HOlgd Ush g

A4 : Avoid the projection of the screw head above the surface

TP RR P GIR A FW A &

TRADE THEQRY',
Which jig is used for drilling on thin sheet metal? 1.0

Tt =i o1g W e & for forwr fomT o1 S fmar S @ |

Al : Solid jig

A2 : Sandwich jig
Jsfa fomm

A3 : Post jig

e fom

A4 : Table jig

TRADE THEORY

Which type of pin is used in assembly to prevent the loosening due to vibration? 1.0

YT B PRI B 1A AU B1 A & 1T e & i 7R & o &1 Iuaiv far sar g

Al : Grooved pin

A2 : Threaded taper pin
TR

A3 : Spring pin

& fom

A4 : Taper pin

TRADE THEORY

What type of screw is used to set collar on a shaft in the position? 1.0
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U T e R PTAR Y HA & [T 75T YR & Tp BT IUANT a1 St g1

Al : Grub screw
PCAC]

A2 : Machine screw

ERICRvE]

A3 : Self tapping screw

Wh 30 B are i

A4 : Hammer driven screw

B R I aren U

TRADE THEORY

Which one of the following screw is used for fastening of sheet metal? 1.0

Tite 41g F T~ & fore FHafoia & 3 fra g o1 swim e s g

Al : Grub screw
T9 U

A2 : Thumb screws

3feT U

A3 : Self tapping screw
W4 ¢Y B aren Ua

A4 : Square head screws

TR RR I i

TRADE THEORY:
What type of nut is used to protect threaded end from damaging? 1.0

U3 US Bl THUH UgaM J §9H & ot b UHR & SRaRIe BT ST fHhar Sar g |

Al : Wing nut

fdrae

A2 : Castle nut
CaNE

A3 : Cap nut
adi e

A4 : Square nut
Hc

) | NUMERICAL ABILITY AND REASONING
What'is'the value of 135 times 247 ? 1.0

135 x 247 DT HM FT 82

Al:33345
33345

A2 :34345
34345

A3:35345
35345

A4 :36345
36345

NUMERICAL ABILITY AND REASONING

0.00
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77

What is the value of 30% of 600 + 70% of 400?

600 BT 30% + 400 BT 70% PT T TaATSA?

Al:360
360

A2 : 460
460

A3:560
560

A4 : 660
660

NUMERICAL ABILITY AND REASONING

78

78

‘What is the value of X, if 966/x = 193.2 ?

3R 966/x = 193.2 Al X BT HF FASY:

©

0.00

NUMERICAL REASONING

79

79

What is the value of 378+ 7/ 0.7 ?

378 +7/0.7 BT HH Id133:

Al:71.14
71.14

A2:73.14
73.14

A3:75.14

= &

NUMERICAL ABILITY AND REASONING

80

80

V1521 + 31 &7 HH Id133:

Al:50
50

A2:60
60

A3:70

A4:80
80

NUMERICAL ABILITY AND REASONING




81

82

83

84

81

82

83

84

What is the value of 15% of 550 + 45% of 440? 1.0 0.00

550 BT 15%+ 440 DT 45 % DT HIH 1 82

Al:280.5
280.5

A2:2825
282.5

A3:284.5
284.5

A4 :286.5
286.5

NUMERICAL ABILITY AND REASONING

What is shafi income, If he spends 60% of salary for his family, 15% for his children, 15% for other expenses and remaining ar;lount 1.0 0.00
of a Rs 6,000 is saved?

3R T 3Tt TRSATE BT 60% 3T TRAR W, 15% T T W, 15% TAR Tl IR TUT AW § 6,000/~ T T BT S Y
SUD! Hol IIATE TRy :

A1l :Rs 55,000
55,000 2.

A2 : Rs 60,000
60,000 .

A3 : Rs 65,000
65,000 %,

Ad : Rs 70,000
70,000 3.

NUMER]_C;AL ABILITY AND REASONING
What is the value of (3m + 5n) - (5m - 6n)? 1.0 0.00

(3m + 5n) - (5m - 6n)WII'HER3IT%?

Al :2m- 11n
2m- lln
A2:2m+ lln
2m+ 11n
A3:-2m+ 1la
22m+ lln
A4 -2m - lln
2m="11n

NUMERICAL ABILITY AND REASONING

What is the area of rectangle in cmz, If breadth of the rectangle is 7 cm and length is twice the breadth of the rectangle?

IR Tt ST B NSTE 7 cm TUT TS, ASTS B AT § Al AT BT &THA em? TAZA?

Al : 96 cm?
96 cm?

A2 :97 cm?
97 cm?

A3 : 98 cm?
98 cm2




85

85

A4 : 99 cm?
99 cm?

NUMERICAL ABILITY AND REASONING

How much 8 turners earn, If 6 turners earn Rs 300?

3R 6 TR 300 T. HHIA & dl 8 TR [po=T HATG:

Al : Rs 325
325%.

A2 :Rs 350
350°%.

A3 :Rs 400
400%.

A4 :Rs 450
NUMERICAL ABILITY AND REASONING 4

450%.
How long will 6 similar pumps take to fill this tank,If 3 pumps take 27 minutes to fill up a tank?

3R 3 T TS b bl HRA H 27 e A § Y 6 77 I T 1 WRA | foba1 9wy o

86 |86
Al : 9 minutes
9
A2 : 12 minutes
12 fiFe
A3 : 15 minutes
15 fome
A4 : 18 minutes
18
| NUMERICAL ABILITY AND REASONING
\ W 4 1.0 0.00

87 87 What is the value of 3x (4x -2y +5)?
3x (4x -2y +5) BT H T2

Al : 12x% + 6xy -15x
12x% + 6xy -15x

A2:12x2- 6xy #.15%
12x2 - 6xy,+ 15%

A3 -12x% - 6xy - 15x
-12x% - 6xy - 15x

Ad:-12x% + 6xy + 15x
NUMERICAL ABILITY AND REASONING

-12x% + 6xy + 15x
How much amount would each person get, If an amount of Rs. 61,020 is distributed equally amongst 45 persons?

3R 61,020 F. 45 AN H SRTR &1 S o YA &) foba 3. el

88 88
Al : Rs. 1156
1156 .
A2 : Rs. 1256

1256 °%.




89

90

91

92

89

90

91

92

A3 :Rs. 1356
1356 2.

A4 :Rs. 1456
1456 2.

NUMERICAL ABILITY AND REASONING
How many Kgs of tea powder will it require for 30 days, If a tea shop requires 45 Kgs of tea powder for 15 days?

%ﬁ%@?@maﬁwﬁlsﬁ%mﬁ ks T B UTSER B SRR & a1 39 b b 30 31 F g e uresx

Al :75Kg
75 foam.

A2:80Kg
80 fob 1.

A3 :85Kg
85 T .

A4:90Kg
90 for 7M.

NUMERICAL ABILITY AND REASONING W
How much did he sell the motor bike, If Mr.Sathish bought a motor bike for Rs 45,400 and‘then sold itjat a loss of 15% ?

T A TP I 45,400 B. T WIS TUT IADT 15% B W 99 341 | S8 H1 fashg Tearaargy :

Al :Rs. 38,290
38,290°%.

A2 : Rs. 38,390
38,390 %,

A3 :Rs. 38,490
38,490 .

A4 : Rs. 38,590
38,590°%.

NUMERICAL ABILITY AND REASONING

How many days will befaken to assemble 48 machines, If a mechanic assembles 8 machines in 2 days?

Tfe T ApfAe 2 G 7' 8 1=fi9 Bt sritaell = AT & < 48 A=A T 3rdwaret v H fopam o avie

A1l :10 days

1ofea

A2:12 days

12T

A3 : 14 days
14 f&=

A4 : 16 days
16 fa

NUMERICAL ABILITY AND REASONING

What is the side of square in cm, If the area of square is 961 cm??

gfe fpeft avf &1 Qe 961 sz%f‘ﬁaﬁaﬁﬂa'fcmaa@?

Al:30cm
30 cm

0.00

0.00
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94

95

96

93

94

95

96

A2:31cm
31 cm

A3:32cm
32 cm

A4:33cm
33 cm

NUMERICAL ABILITY AND REASONING
What is the length of rectangle, If the perimeter of rectangle is 248 mm and breadth is 50 mm?

Tfe fHdt Smad &1 URHAT 248 mm 3R ST 50 mm & Y M B TS Id12 -

Al:70 mm
70 mm

A2 :72 mm
72 mm

A3 :74 mm
74 mm

A4 :76 mm
76 mm

NUMERICAL ABILITY AND REASONING;

In how many years the sum of Rs.6000 amounts to Rs 6960 at the rate of 8% per annum?

6000 3. BT 8% AINP R T 6960 F. T H fora=TT THT T2

Al : 1 year
KL

A2 : 2 years
2

A3 : 3 years
3

A4 : 4 years
499

NUMERICAL ABILITY AND REASONING

What is the principal that earns Rs 300 as simple interest in 2% years at 10% per annum?

o gaue $12%34 H'10% aNH &3 ¥ T 300 . §AT?

Al:Rs. 1000
1000 ®;

A2 :Rs. 1100
1100 .

A3 :Rs. 1200
1200 2.

A4 :Rs. 1300
1300 2.

NUMERICAL ABILITY AND REASONING

Which direction Mr.Basha facing now, If he walked 10 m towards east took a right turn and walked 15 m and again he took a right
turn and walked 25 m?

TfE SR 10 m & =M H B 15 m <10 94T R 25 1. <10 T gt 3@ S9! e w82

Al : South

&

1.0

0.00
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98

99

100

97

98

99

100

A2 : North

A3 : South - West

Sigorufam

A4 : West

NUMERICAL ABILITY AND REASONING
What price it should be sold to get profit of 10%, If a plot is sold for Rs 19,600 with a loss of 10%?

TS T Wie BT 10% B W 19,600 . T S 7T R @l 10% TATH YT B P 1T e g TR =01 ST =1feq «

Al :Rs. 24,200
24,200 2.

A2 :Rs. 24,400
24,400%.

A3 :Rs. 24,600
24,600 2.

A4 : Rs. 24,800
24,800 2.

NUMERICAL ABILITY AND REASONING
What is the value for 75a — (-20a)?

75a — (-20a) BT HH FAZA?

Al:-95a
-95a

A2:95a
95a

A3:-105a
-105a

A4:105a
105 a

NUMERICAL ABILITY AND REASONING

What is the value.0f5\m> n* / 5 mn?

15 m3 n* /5 BT HF Sa3a?

Al:3m?n’
3m?n?

A2:3mn?

3 mn?

A3:3m*n’

3m*n’

Ad:3m?nd

3m?n’

NUMERICAL ABILITY AND REASONING

What is the value of Y, If 13y2+ 9=1062?

Y &1 HF 9123, Tf& 13y2 + 9 = 10622







-No. Correct Answer Key
1 A3
2 A3
3 A2
4 A3
5 A3
6 A3
7 A1
8 A2
9 A1
10 A3
11 A3
12 A4
13 A3
14 A3
15 A3
16 A3
17 A4
18 A1
19 A2

20 A4

21 A3

22 A4

23 A3

24 A4

25 A4

26 A2

27 A2

28 A4

29 A3

30 A1

31 A3

32 A4

33 A4

34 A2

35 A3

36 A2

37 A2

38 A3

39 A4

40 A4

41 A2

42 A2

43 A1

44 A2

45 A3

46 A3

47 A2

48 A4

49 A3

50 A3

Fitter

S.No. Correct Answer Key
51 A4
52 A4
53 A2
54 A2
55 A2
56 A2
57 A3
58 A3
59 A1
60 A2
61 A2
62 A2
63 A3
64 A2
65 A4
66 A3
67 A2
68 A3
69 A3
70 A4
71 A2
72 A2
73 A1
74 A3
75 A3
76 A1
77 A2
78 A3
79 A4
80 A3
81 A1
82 A2
83 A3
84 A3
85 A3
86 A1
87 A2
88 A3
89 A4
90 A4
91 A2
92 A2
93 A3
94 A2
95 A3
96 A4
97 A1
98 A2
99 A1
100 A2






